R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 585\Drawings\Current\TX-4171-74.dwg, TX-4171

Endura

P R ODUTCT S,

8811 West Market Street
Colfax, NC 27235

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & Ré13 and the 2006
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404
(including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-bome debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

drawing.
4. Conditions not covered by this drawing are subject to further engineering
analysis.
TABLE OF CONTENTS
SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
2 Astragal details (Ultimate Flip Lever)
3 Astragal details (Ultimate Multi-point)
4 Astragal details (Ultimate Hunicane)
5 Door panel details (lip lite insert glazing)
é Horizontal cross sections
7 Vertical cross sections
8 Frame anchoring

74" MAX. FRAME WIDTH

82" MAX. O.A. FRAME
HEIGHT (INSWING)

81.125" MAX. O.A.
FRAME HEIGHT (OUTSWING)

DI
A S

o )

5 TE o
Dt E
~ et s 8
S X
L O Q)
e’ f\r\’/‘yo Fy b
Gu Al A
Coi e iuw
f} S 7 S S
> (1% s ¢
A iG
A" Qe
(S AW (0
2 Ny e So>r e
z‘d' 'o.~;4_ .

L'\}

XX

INSWING

OUTSWING

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS
BY

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE |LFS | PART OR ASSEMBLY:

12/03/13|ADDED ARTICULATING SILL

1

N

NO. DATE

REVISIONS

DATE: 7/12/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4171

sHEET 1 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



“ONJ] SANVLINSNOJ aNialing ‘m*'sy 2102 (©)]

ZS8LL—4 # NOLVMISIOSN 40 3LVOI4LLYEO SNOISIAIY
SYIINIONI TWNOISS340¥d 40 Quvod SvX3L QM@HE&EEW.@MQW«.\E Ad 41vd |ON| 8_
P —— . S41 NS 9NLYINOILYY_030av|£L/c0/zi] L || U3 | P <
S6SEE 714 OOWIPA 0£Z Xog “O'd \SNM% ATBNSSY Y0 1¥vd [ S47[38NIdY0 Nid TvOwelSY MIN dav| s1/s/s |z ||| 7|7 . S| S
*ONI ‘SINVLINSNOO ONIaTINg ~ = g | 2;
~ 3o _.vM
SZTLHOL# '3'd Svxal Y8NAN3 = H e &
‘3'd IPIWYDS *4 uopuAk :Ag peJdodeld sjuswnosoqg :10Na0¥d _ml m W W w W
~Sr/-S
|.f.)(3 8y .wa
,./az.,.q...ﬂ.,,m,.ﬁ\%w
SRSrCELEL N
WwoLLO9 .
0
N~

225" —’-l ~—
i J ][]

1.75" ——| |=—

260"
35.5" LATCH

41.0" DEADBOLT

_ :WN. _. =

33.75"

520"
1.82"
0.063" ——| |=—
£
|
Astragal Section

60.0"

WS99°C

77.75"
ANCHOR SCREW LOCATIONS
!

f=—1.75"
7 5“

'E =
| =

dOl

(2)#8 X 1-1/2" PFH WOOD SCREWS
(2)#6-32 X 5/8" MACHINE SCREWS

Upper/Lower Bolt Actuator Lever - Zinc
(2)#8 X 1-1/2" PFH WOOD SCREWS

2
ShA
~ 0 w
=< O Zz
©= 5 o=
=z < % X\ 2
mm \ \ /) G
wn
=< / Z / <C
N Eﬁv o’
N &
x E <
g
AV m L
L N\ W ¥ 5 g
7 ] _ rI_E
(0]
; o
£ - » T
E 3 8
E e o,
< S W <
2 (e}
n_u £ = M
> m _”
3 = 1
7] < -
S
o
]
(o}
o W 0
oD =

N

-1 'BMPYL-TLTH-X1\buaund\sBuimelg\s8s - 1Q.L\sU] JO 1daQ sexa I\LNINVINYI einpuz\siuaid\y



Upper Bolt Sleeve - Aluminum

Upper Latch - Reinf Resin

Latch Actuator
Steel

T~

Aluminum Body

R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 585\Drawings\Current\TX-4171-74.dwg, 1-3

Lower Latch - Reinf Resin

Lower Bolt Sleeve - Aluminum

(2)#8 X 1-1/2"

(2)#6-32 X 5/8" MACHINE SCREWS

(4)#8 X 3" PFH WOOD SCREWS

ULTIMATE MULTI-POINT ASTRAGAL

PFH WOOD SCREWS

'\.;\::‘;\:\ ?\:‘q"l}. %
SkEiEE Ty
Soni2i 50
ot BRI H= N2 < N
FU P RO
o Vizie &8
G iz ;Q«:t:'"-'\(\x
NOE 3ok IR A
Z‘Lal \:'L'E\.\'\—' -
B T e o) = = e it
2.25" —>| ——
33.75"
52.0"
60.0"

Q. 77.75" =

Q ANCHOR SCREW LOCATIONS g

Upper Latch Lower Latch 8

- ; — T =0 P
f=—1.75" 1.75" —— [=— )
7.5
7-5" 26-0"
35.5" LATCH
| 41.0" DEADBOLT

Upper/Lower Bolt Actuator Lever - Zinc

(2)#8 X 1-1/2" PFH WOOD SCREWS

(2)#8 X 1-1/2" PFH WOOD SCREWS

(2)#6-32 X 5/8" MACHINE SCREWS

1.82" |
N
S
0063 ——{=— =
Ve
J i N

Astragal Section

uf
LN
L )
o ¥ o
[ n W
E'S [o)] ! 00
= n Z v~
o . ) P
N ogn 2
h:ﬂ. = N Wl
)
c E 6 2]*
-8 8o ZZ
c <<empm 90
>3 H<oe oOE
3 o ©
2>k (9]
] i
Zoo
oM 85
iy OdN< ouw
o 4
° %52 L
S 5% 9%
o 9 .c 4
& 592 gp
& moo 85
: 2
5 ke
E L
3 Ho
0
0
o

ENDURA
ASTRAGAL DETAILS
(ULTIMATE MULTI—POINT)

PRODUCT:

LFS
BY

REVISIONS

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE [LFS| PART OR ASSEMBLY:

12/03/13|ADDED ARTICULATING SILL

NOJ DATE

2
1

OATE: 7/12/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4171

SHEET 3 oF 8

@ 2012 R.W. BUILDING CONSULTANTS INC.



"ON| SLINVLINSNOZJ aNIaling *m*'y 1oz (@)

2S8L1—d4 # NOLVALSIORN 40 3LVOIALLNIO SNOISIASY .
SYIIANIONI TVNOISSIH0¥d 40 Qu¥vos SVX3L QM&@W%%J&@«SW@E Ad 31vd [ON| 8_
S TIIS_ONILYINOIEY d3aav|ci/s0/z1] + |<|v|x ||
L6L6°6S9°CL8 "ON euoyd : N =25 W
S66£€ 14 OSUIDA 0£Z XOF .o.n_\;g. ATBNISSV 80 1Mvd | 547 34NIdv0 Nid TvOVeISY M3N 0Qv] S1/5/5 | 2 | |5 .56
"ONI ‘SLINVLINSNOD ONIaTINg Y . g | 4_
N B E|lg B
£ZLHOL# T'd Svxal Vanang — JEEIE z i
‘I'd ‘IPIWYDS 4 uopuk :Ag pespdeud sjuswnooq 110NA0Yd S W m o 5
57 s IN \&.
- dﬁ.fﬁf&
o uf
_bv(,b/.@..”,m»_..\%% :N
S AN GASNTG e
- 7 0% =1
Z s : nm.\«__y <
AL T . &
g LOINHOS 4 NoaNATE .08° &
GEL TN TR -—— g & =
..MMV * =, Mmﬁ_\f _,,. g Sal5e <
G O, N S (O]
b N
Qoo Qe _ = _ =
Uy 40 D0 — =
Y R S <
WOLLOg
5 o=
D Q
N w
[ %IH 7
v
oo » m
o ._. [(Ze] i
5 - =
S 2w 7
s [N = S
23 3 =
# = o- Sz m
(-]
. Q
2 3
o @
Q
i ( i =
[¥o) s Q
(32 ° o &
: B S
)
n =
S O S
w
F 2 2
. | = F
% o)
W ) =<
5 ‘I -
2 a nE
o <
— ]
< 1 <
O o Ol o
o |I8)—t &
= ||l (2
_ [TN] mo. <|w :wa.o — =
“ 5. > — o .S
(274 _ L
o 3 |I& E 215
5 B 2 S <|<
_ g < a) =1
ANA = O d o |A.
= s [ =
=2 3 % g, P - L Yy
3 ©° | o>
5 N 2|
> W< <
2 9 5= 050 —— =— 1=
o (%]
(-]
O \7’ —
i
T -
R o <
’ =
+ > Z
o 5 89 N
S 2 |
= < Z
13 N3
o rﬂul = in —_—
- Sk - ) R o=
1 >
= = £ >
» [ = w T
: : o
Rk g 3 < <
S o AN z < =
< = =
V-V el -
. -
R O =
dOl @ 5

-1 ‘BMPpL-TLTH-XL\WUBLND\sBUIMeIA\SSS - IAL\SUT 0 3daq sexa \LNINVINYId einpu3\siuaid\y



STILE

(LAMINATED WOOD) —\ 5

1.75"

ool —

PARTICLE BOARD
LOCK BLOCK
(12.0" HIGH)

35.75" MAX.

STILE
(LAMINATED WOOD)

INTERIOR

[/
/-

EXTERIOR 1.18"

m HORIZONTAL CROSS SECTION

PANEL WIDTH

21.0" MAX |

D.L.O. WIDTH

79.25" MAX. DOOR

63.0" MAX

D.L.O. HEIGHT
q
|

PANEL HEIGHT

MASONITE
Insert glazed

(Steel)

#6 X 1-1/2" PH SM$

GLASS BITE 1/2"
INTERIOR
1/2' NOMINAL GLASS THK.
| / | 1/8 TEMPERED GLASS
1 .— AIR SPACE

o~

//

~~~—1/8" TEMPERED GLASS

/4

STEEL SPACER
EXTERIOR Q'SO SEALANT
LOW TACK SEALANT

GLAZING DETAIL

Gl Lip Lite Insert Glazing

TOP RAIL

(WOOD) ~ \P—

24 Ga. STEEL SKIN —\ SN

0.81"

INTERIOR

FOAM CORE -t
(POLYURETHANE)\ %

BOTTOM RAIL

rdniata
L s
: .
H
S
& -
:
g
1O
s 02
LI
FEE
t=
-
$O s
ek
iz
i 2
s

M-

EXTERIOR

0.81"

(WOOD COMP.) — J

SN

~—1.75"

7“2\ VERTICAL CROSS SECTION

\&/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
CERTIFICATE OF REGISTRATION # F—11852

TEXAS BOARD OF PROFESSIONAL ENGINEERS

-~
&)
n=Z
=N
=3
Lo
—
D<: s ) 02
> >| W
Q o =90
= = <Z
L o @
Al «<i
) < 93
3 x| Sa
2 °l 2
o) e
x <
o (a
[%5] U')>_.
Lj 0]
L
=
=
-
ol
==
=5
CLO %
~J
=
gl 12
<3 n
x >
=] )
n|o| W
<= oz
o
=
=<
Z|o
w
ala
ala
<|<
o
&N
NEIE
<
RNE
—|lo
N=l=
DATE: 7/12/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4171

SHEET 5 oF 8

R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 585\Drawings\Current\TX-4171-74.dwg, 1-5

@ 2012 R.W. BUILDING CONSULTANTS INC.



R:A\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 585\Drawings\Current\TX-4171-74.dwg, 1-6

P

1/4" MAX. -
SHIM SPACE ol
EXT. SHEATHING paely
2X FRAMING T |~ #10X 2.5 PFH WOOD SCREW
(G >=0.42) x
JAMB
L ENDURA WEATHERSTRIP
(QEBD/PE 650)
INTERIOR
N
VN EXTERIOR
DRYWALL SAIERAR
#8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS

#8 X 3/4" PFH SMS 4"HINGE

m HORIZONTAL CROSS SECTION
w Inswing shown - Outswing also approved

/

(QEBD/PE 650)

; -
X &/ d X
\
//// ////
2 (3N a5
\INITNTJ
ENDURA WEATHERSTRIP

\\

N

T~ DEADBOLT: KWIKSET SIGNATURE SERIES

(980/985)

[T~ LATCH: KWIKSET SIGNATURE SERIES

(991)

CORNER PADS (TYP.)

ULTIMATE FLIP LEVER ASTRAGAL

ULTIMATE MULTI-POINT ASTRAGAL
ULTIMATE HURRICANE ASTRAGAL

/ DOOR PANEL

~

#8 X 3" PFH WS
#8 X 1" PFH WS

7“2\ HORIZONTAL CROSS SECTION

\&/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

HORIZONTAL
CROSS SECTIONS

LFS
BY

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

12/03/13|ADDED ARTICULATING SILL

2
1

NO.| DATE

REVISIONS

OATE: 7/12/12

scAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX=4171

SHEET 6 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 585\Drawings\Current\TX-4171-74.dwg, 1-7-

g —] 2X FRAMING
>(_ (G >=0.42)
- \

//

INTERIOR

EXT. SHEATHING I | - DrwaL
\. i / DOOR PANEL

Ii | |—woxaser BEURADOCR SHEE
1/4" MAX (1|4 yd WOOQDSCREW ENDURA THRESHOLD
. o1, : (Z-SERIES INSWING ARTICULATING
SHIMSPACE ™~ SILL w/ PIN CAPTURE]

#1ACL4565 (shown)

015"
C'SINK
(TYP.)

d

(e X EXTERIOR

~

u

DOOR PANEL \
\— HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650)

EXTERIOR N INTERIOR

/1 "\ VERTICAL CROSS SECTION
\U Outswing shown - inswing

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

7”5\ VERTICAL CROSS SECTION

also approved

\Z/ Inswing configuration

ENDURA DOOR SWEEP

EXTERIOR // INTERIOR

DOOR PANEL

ENDURA THRESHOLD

y/i
INTERIOR DOOR PANEL EXTERIOR EXTERIOR INTERIOR
ENDURA WEATHERSTRIP 4\\\«
(QEBD/PE 650) DOOR PANEL
ENDURA THRESHOLD ENDURA DOOR SWEEP \
(DBK-R)
ENDURA THRESHOLD %
(Z-SERIES INSWING ADJUSTABLE)

(Z-SERIES OUTSWING)
ZOB4565FN (shown) \
=

>

3

AT / \x\
N

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR

1/4' X 2-3/4"ELCO OR
ITW CONCRETE SCREW ITW CONCRETE SCREW

#10 X 2.5" PFH WOOD SCREW

7“2\ VERTICAL CROSS SECTION 7“3\ VERTICAL CROSS SECTION

w Outswing shown w Inswing configuration

(Z-SERIES INSWING ARTICULATING)

ZAI4565FN (shown) ZACA4565FN (shown)
E 0

(DBK-AC)

[T

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

/“ 4\ VERTICAL CROSS SECTION
\U Inswing configuration

L
]
s )
o 14
[ o u
£* Bz
0 ui O [
e £ N 5
b .do
c &l"v— .|
s o <
Z9%9s Z
2 <292 @
§‘I— T =
3 J25@e »
a>v {4
Zowo %
5 on_ 2
a 0N6 =
O Xz
o o) Lo
[ Zmo o
o 9 .¢c 4
o —00
[ = E
& Do g
5
0
3 g
c
(]
3 =
[+
o

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

VERTICAL CROSS SECTIONS

LFS

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS| PART OR ASSEMBLY:

12/03/13|ADDED ARTICULATING SILL

2
1

NO., DATE

REVISIONS

DATE: 7/12/12

SCALE:  N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:

TX—4171

SHEET /7 oF 8

© 2012 R.W. BUILDING CONSULTANTS ING.



RA\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 585\Drawings\Current\TX-4171-74.dwg, 1-8

- g 2X framing (by others) . g‘@
26% STy £, g
';L%m 1" 6“ "37:(5: gg?‘h £ E* % %2
378 \ 2 (TP : EA R I LR
Q (TYP.) & Astragal Strike Plate B | SRR wt = s bk
= (e, | @ Head Jamb fo il ioid c2 gty g*
R 4o Piwiy S 289 53
SEE HINGE 1 l IR ! = ton i3 3 438 g%
. Ll Ay ,(_‘.‘ s 2 !
~ L, f L S L Gim, iQF ) 2om b
DETAIL 1 1 DETAIL 1 - 7 *.\\ 4 “ez”;-.ec WS Foe 5 88 £8
2 g N TR T 2 &y
< = 5] -
55 L #10X 2.5" PFH WS g 388 &
. @ O
- ] i
= \ DETAIL 1 € § e
| i §
SEE HINGE % #8 X 2-1/2" PFH WS
DETAIL 2 [0 ||| @
i | o L o
i #8X 1" PRHWS Ss Il 1™ gy 3/ prH ws )
) I DETAIL 2, 3 OR 4 SE [ HINGE g |3
s M N 8 W 1% § z
I L1 ] - rv] QRSN
HINGE DETAIL 1 8 3
5 x|
- #10 X 2.5" PFH WOOD SCREW 3 .
(P 4" (TYP,) 1/4" X 2-3/4" ELCO OR W\ £ £
HINGE JAMB ITW CONCRETE SCREW | #8X2-1/2"PFH WS Aol
(TYP @SILL) L Gl
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME ANCHORING e[ .f w
CONCRETE (MIN. 3000 PSI) XX - = x
WOOD (G >= 0.42) #8XT"PFHWS <o 1 ,;Es #8 X 3/4" PFH WS 2
T 4" X 4"HINGE 3|,
\ 2%
o
el 2
HINGE DETAIL 2 § % %
=1
< % %
=<
(9]
Z|o
Ly
CONCRETE ANCHOR NOTES: 3|8
1. Concrete anchor locations at the corners may be adjusted to maintain the min. ASTRAGAL PIN CAPTURE #10 X 2.5" PFH WOOD SCREW < :
edge distance to mortar joints. COMPONENT (UNDER CAP) 1/4" X 2-3/4" ELCO OR S [
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to ITW CONCRETE SCREW oS =
maintain the min. edge distance to mortar joints, additional concrete anchors ) 1/2" DIA. HOLE (IN CAP) }} a
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 1/2" DIA. HOLE - =
3. Concrete anchor table: \ — N—|Z
T T : TMIN. CLEARANCE | O S @ ‘ G0 o . ~ = ASTRAGAL PIN oaTE: 7/12/12
- TO ADJACENT 3 y = - - CAPTURE scale:  N.T.S.
Iw " " " " CHK. BY: LFS
ELCO " . N " Outswing Inswing Inswing Inswing TX—4171
uLtRACON®| 1/ 1-3/ 1 .
SHEET _8 oF _8

© zo12 R.W. BUILDING CONSULTANTS INGC.



